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77
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13 46
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1/150 1/400
1/4,000 1/5,000

1,500 1,700mm
40

1,637m

1/400 1/4,000

2,000 2,300mm

1,366m




17400 1/1,000

1/2,000 1/4,000

17150 1/400

1/5,000




5,565m /s 10

24
18
3,500m /s
26
7,900m /s 32
7,900m /s 1,100m /s
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32 38
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27 43
5,565m*/s
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22 7
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65,000ha

128,000kw
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39

4 7

1,100m%/s

22

1,100m%/s

41
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8,700m*/s

62 8

40,700ha

156,000kW
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14 8
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259mm 22 22 44 7 62 8 14 8
44
9,800m /s 9,800m%/s
1,100m 1,100m%/s
/s 8,700m /s 8,700m*/s
mé/sec mé/sec m3/sec m3/s m3/s m3/s
9,800 1,100 8,700 9,800 1,100 8,700

-14-




2,100m /s
4,200m /s
5,400m /s 7,000m
/s 8,700m /s
9,300m /s
T S e i /o
£
8 = £ & i
ml |7 i T o 100
- :
S 2 A
\% l o
N e 8 3|  zwel8
a T b ™ o
gl NA\_|T | m ] ] )
x 8300 <8700 <7000 5400 4200 2100
i
& ° ®
e x 9
e B
s :
|
®:

4,400m°/s

5,600m%/s
8,700m*/s
9,300m%/s
m/s
1,100 -
o
o
o
o8 3 S 2
! S o < &
— m - (qV]
i 1 l !
«9,300 < 8,700 ~5,600 4,400
[ ] [ | [ [ ]
[
®:

-15-




)T.P.

km T.P.(m) (km) T.P.(m) m
98.4 49_15 86.4 49.09 370
77.2 26.23 65.2 26.20 520
70.8 23.50 58.8 23.48 590
11.6 9.25 13.1 10.04 300
5.9 7.50 0.0 3.68 500

)T.P.
6.0 85.00 1
4.0 29.09
0.8 3.30
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0.7m /s
/s
/s

7.0m /s
10
139.3m /s

1.3m /s

9.0m
94 .3m

80m /s

18

2.23m%/s

124 _1m¥/s
51.1m%/s

2.57m%/s
30

0.34m%/s
5.1 m/s
52
79.6m*/s 10

80m*/s
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